aEIGER VY ICL -1 Rationale Zahlen | Potenzschreibweise

Potenzieren von negativen Zahlen

Lésungsblatt

(~4)° = (~8)- (-4 - (-4 = —64

(=3)%(=3) = (-3)* = -27

(=5)* = (=5) (=5) * (=5) - (=5) = +625

(=2)%-(=2)* = (-2)° = -32

(-3)% = (-3) (-3) = +9

(=5)%?-(=5)%? = (-5)* = +625

(-2)6 = (-2)- (-2)- (-2) - (-2) - (~2) = +64

(—)'- (—4)% = (-4)* = +256

(—=6)* = (-6) - (—6) - (-6) = —216

D (-D*=(-1°=-1

() =) (-= (3 (D=0 - ==

(3 =5 (9)-a (3 (=) -2
(3) =(-2 (-9 (D)= (D8 =D =55
(3 =) (2 () (D=a || (D) =) =51
(=D C)(D)-a (3 (=) =i

(-1,5)2 = (-1,5) - (-1,5) = +2,25

(—4)?>+(-2)*-(-3)?=16-8-9=-1

(—3,7)%2 = (-3,7)- (-3,7) = +13,69

(=3)2+ (—4)3 + (=5)2 =9 — 64 + 25 = —30

(—2,5)3 = (=2,5)-(-2,5) - (-2,5) = —15,625

(=33 — (=2)*+(=2)2=-27-16+4=—-39

(—5,6)2 = (—5,6) - (—5,6) = +31,36

EOB+ED+ (DY =-1+1-1=-1

(-1,8)3=(-1,8)-(-18) - (-1,8) = —-5,832

(—6)2 — (=33 + (—2)*=36+27+16=+79
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